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Question Number : 1 Question Id : 70819120284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819166001, LM LT 7]

g0 ]
70819166002. Lot

/ 1
70819166003. Sl

12 2
70819166004, LM LT 7]

Question Number : 1 Question Id : 70819120284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 70819120285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166005. Both A and R are correct and R is the correct explanation of A.

20819166006. Both A and R are correct but R is NOT the correct explanation of A.

70819166007. A is correct but R is not correct.

70819166008. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819120286 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocit}-' is itws:-rsel}-' proportional lo its velﬂcit}-'.

moN®p

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options :

70819166009, > ™Y
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Question Number : 3 Question Id : 70819120286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819120287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \.@ R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
R R
X | R Y
Options :
B GmM

70819166013. -’

\,f_f{: GmM
70819166014, ° K
1 GMhm

2 3
70819166015, V8 R

E\EJ GMm
%
70819166016. - R“

Question Number : 4 Question Id : 70819120287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
B GmM
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Question Number : 5 Question Id : 70819120288 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:

4

3 maZ + 2mb?
70819166017.

B
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)
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70819166020. 5



Question Number : 5 Question Id : 70819120288 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819120289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :
(1 1)
Iz R
70819166021,
oy O
70819166022, 1 T R/

70819166023.
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Question Number : 6 Question Id : 70819120289 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819120290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options:



P
70819166025.

70819166026.

70819166027. I

70819166028. F

Question Number : 7 Question Id : 70819120290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819120291 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

70819166029. ©

70819166030.

70819166031, >

70819166032.

Question Number : 8 Question Id : 70819120291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819120292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature § at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 0
Ry :
""" s L
R, &
B,
Options:
.“1[{2 | l]le
70819166033, 1t Ra
04R; + 0,R»
70819166034, ~1 TRz
Ry — 05R;
70819166035. Ry — R
8,R5 — ;R4
70819166036, 2 R

Question Number : 9 Question Id : 70819120292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
0,R, + 0,Ry
70819166033, 1t Ra
04Ry + 0,R,
70819166034, ~1 TRz
Ry — 05R;
70819166035. Rz — R
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70819166036, 2~ Ri

Question Number : 10 Question Id : 70819120293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R®. Its time
period of revolution will be given by :

Options :
3
Tx R2
70819166037.
&
TxR3

70819166038.

70819166039. T = R?
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Question Number : 10 Question Id : 70819120293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 11 Question Id : 70819120294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

70819166041.

70819166042, *



70819166043.

|
3
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Question Number : 11 Question Id : 70819120294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819120295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.
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|| = .
0 P
v g
Options :
Q
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Question Number : 12 Question Id : 70819120295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120296 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C » with C 5> i " when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

'Cz
series. Calculate the ratio of capacitors, C_l
Options :
2
70819166049, 19



15
70819166050. 11
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Question Number : 13 Question Id : 70819120296 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819120297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
An alternating current is given by the equation i=1 | Sin wt+ ;'2 cos wl. The rms current will
be:
Options :
o |
- [ + 1)
70819166053, V<

k! (i + ip)?
—= (1 2
70819166054, “E
1
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Question Number : 14 Question Id : 70819120297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options :

70819166057.

m|x~'

70819166058.

70819166059, &

3R
70819166060. =2

Question Number : 15 Question Id : 70819120298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819166060. 2

Question Number : 16 Question Id : 70819120299 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the

mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options:

70819166061 Image is virtual, opposite side of concave mirror.

70819166062 Image is real, same side of concave mirror.

70819166063, mage is virtual, opposite side of convex mirror.

:Yes



70819166064 Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819120300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819166065, | MM

70819166066, U-7° mm

70819166067. U.50 mm



70819166068, U-22 mm

Question Number : 17 Question Id : 70819120300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819166065, | Mm

70819166066, U-/° mm
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Question Number : 18 Question Id : 70819120301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MIiCroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819166069. Both A and R are true and R is the correct explanation of A.

70819166070. Both A and R are true but R is NOT the correct c-xplanation of A.



70819166071. A is true but R is false.

70819166072. A is false but R is true.

Question Number : 18 Question Id : 70819120301 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 o [l 200aL 9. 215 A 54 A ety ollodel SR8 R gL EUAAMT 21241 8,

sad A ustalla ygusals sal dasgid yrsels a4y Wil [@se b andl ws o,

SRR Bdsgl il Geatsdtlal dasgiardl <L eliodl adadond, 2 usiidl adaidend s aell

JECES

Gusli 211U (e 2iquiz 2 [sedmidl wial s i s,

Options :

70819166060. Uirl, A el K HIBL S 3 A « 21y P¥lszel R ©.

oid, A @A R | 6 wid A - W ¥uElseel R .
70819166070. L

=) o5 _';. - o
70819166071, ™ HH P WA R MG ©.

Al ® wid R WE 9,
70819166072,

Question Number : 19 Question Id : 70819120302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A; : A, is :

Options :

70819166073, / : 108



70819166074, / * 13

70819166075, 1+ 3

70819166076, + °

Question Number : 19 Question Id : 70819120302 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819166073, / : 108

70819166074, * °

70819166075, L+ 3

70819166076, +  °

Question Number : 20 Question Id : 70819120303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Ts and c=3x10% ms 1]

Options :
70819166077. 654 nm and red colour



70819166078. 654 nm and orange colour

70819166079. 1046 nm and blue colour

70819166080. 1046 nm and red colour

Question Number : 20 Question Id : 70819120303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819166077, 054 nm i dld 221

70819166078. 654 nm 24 221l 221

70819166079. 1046 nm 24 dguil 321

70819166080, 1046 nm 214 cid
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Question Number : 21 Question Id : 70819120304 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be apphed on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

) g R s 8
[g=10 m/s; sin 60°= — 7 08 6" = E]
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Correct Marks : 4 Wrong Marks : 0

i Al
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m is displacement along the x-axis after

Y
A boy pushes a box of mass 2 kg with a force F = N on a frictionless surface.

[f the box was initially at rest, then
10 s.
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Correct Marks : 4 Wrong Marks : 0
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5 to 5.001

Question Number : 23 Question Id : 70819120306 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ s2 will be
N. [g=10 m/s?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120306 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[euz [egerdl viex (3001 gami Goiel Mol 50 60 kg 8. od 1.8 m/s? 210 3oL 4l [dge A9 Gl ol
Wokd dvd Nl
[g=10 m/s?]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120307 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—0.21 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 2N.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120307 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ay wHlA dizd W5y ded £ls £a 0135 g/em 9. Geued Adi dedd dia A
y=—0.21 sin (x+30t) 4Rkl E2UiAd 20 9 sl x Hler 2l t Hsmsul 8. ARl Geurrt el s
AUEA YA rx 10 2N 9. x4t 9. (sl yolls We Yedid %ell (Round-off) )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819120308 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120308 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
s WA o Azl [ s2ai 209 9 sl 3an i 58 45 dler uA ofld Ao 58
5.5 dlen 9. uaM 2304 2.0 atm AL 3.0 e 4y ©A B sy 3.0 atm selsl ofled Asei 4.0 Hid 4y
Bl 8. sl o 2o o2l o] [Eeusr (Wllai) A 52 sral 208 cuw BB ddad WK s 8. 2
[serl Gemadl sl Y4 xx10 Tatm §. x4t 9.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819120309 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
fieldat Pis xx10"1V/m. Value of xis . (Rounded-off to the nearest integer)

[Take €,=8.85x10 RCIN"Tm % ¢=3x10°ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120309 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1000 W usiLi 2L 41 Gotaddial [4slzen 2l 2 m 2ic 200 (o P By 83 duer doisly s
Goumt 4 9. sl 2ol seisudi 1.25% 8. (o5 P wil weets dlovattd yed xx 1071 V/m. 2
YA 8. (sl yels e Ydid (Round-off) H4el.)
[e,=885x10 2 C2N"'m~2, c=3x10% ms ! L]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120310 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120310 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a5 ellor whumal 20 C cllorouzd (Al usaul s s2e M el sdsari 208 8. ol e 422l
15 V dllsy (2cluidel dgled sanel amens 209 9, ol R sdd s ] 9.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120311 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N W
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120311 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

lel ($124d) 2eria 50 O dusy 24 G (Raxd) 2418 duadi o sl wEvEHl gl 9. w

oledldl Aoy 6 V ¢l ol 120 O eiavis] v gl il mA ¢l
Dy
130 0)
L‘;:{ AMA
'::1 1000
< W
| 12000
I } AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120312 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x x 10~ 2 The value
i 3 -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120312 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s[eieetiz @A 429l ML HeriH A e SR 25016 V2 8 V 8. 2L 5uldiai 2AE Rl
oL Ul wEEEld 2is xx 10728, xd e 8.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120313 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120313 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

36ll sdstel 4219dl LCR e N 12 R1eTL 215 100 AR 2 8, o Yl oL 21l Q4R
1 i 2IAA O A8l Bl 2 L 2 R uldL el ey 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 708191894
Section Number : 3
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911174
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The orbital having two radial as well as two angular nodes is :

Options :

3p
70819166091.

70819166092, 4d

70819166093, 4!

70819166094, °>d

Question Number : 31 Question Id : 70819120314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
of sl (radial) adsr o sielld sy guedl s#s AL

Options:

3p
70819166091.

70819166092, 4d



70819166093, 4!

70819166094, °>d

Question Number : 32 Question Id : 70819120315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

70819166095, Both A and R are true and R is the correct expla_na’rinn of A

70819166096. Both A and R are true but R is NOT the correct explanation of A

70819166097, ‘v is true but R is false

70819166098, A 15 false but R is true

Question Number : 32 Question Id : 70819120315 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al o [FEtdl 2UNA D 0 sl 5u A AL Aot 53 B o3 ofloded 5129 R A8 dotd 534 9,

sl A 6y By il o 55 di-ueidlers (dl-uedlers) Aldalbapil, o g e

ofeetl e/ M UROH B,
SRR sl 2L Al qe [ e dcd § 2i HE 4 adgler siel 43 (symmetrical) ©.
Guanl (el deoiu, 12 24rtan [Esedmizl el Gur wis sl



Options :

70819166095, b A ¥ R i © 2R 24 A -l 2l 2wl ©.

i » 2155 Y 3 - :
20819166006, 0 A PR WAL S WA R ¥ A Al wedl iyl %l

70819166097, A {4 O HELR Mig ©.

70819166008, A "l © HELR HI% ©.

Question Number : 33 Question Id : 70819120316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
Electronic configuration AH in k] mol 1
of elements
(a) 1s22s2 (i) 801
(b) 1s22s?2p? (i) 899
() 1s22s22p3 (i) 1314
(d) 1s%2s%2p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :

70819166099. (@) — (1), (b) — (iv), () — (iil), (d) — (ii)

20819166100, (@ = (iv), (b) = (i), () — (ii), (d) — (ii)

20819166101, (@ — (i), (b) = (iid), (c) — (iv), (d) — (i)

70819166102. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)



Question Number : 33 Question Id : 70819120316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - =,

wadl - 1Byl - 10 A sl

well - 1 wedl - 11
(el Seisgin W) (AH kJ mol~1 )
(a) 1s22s2 (i) 801
(b) 1s22s22pt (i) 899
(0 1s22s22p3 (i) 1314
(d) 1s22s2 2p! (iv) 1402

Al 2 [Eseamial Wl srdler s sl
Options:

70819166099. (@) — (i), (b) — (iv), (¢) — (i), (d) — (ii)

70819166100, (@ — (iv), (b) = (i), (€) — (i), (d) — (iii)

70819166101. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819166102. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11

(Ore) (Element Present)
(a) Kemite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine

(d) Cryolite (iv) Zinc
Choose the most appropriate answer from the options given below :
Options :

20819166103, (@ — (i), (b) = (i), (c) — (iv), (d) — (iii)



70819166104, (@) = (i), (b) = (i), (¢) — (ii), (d) — (iv)

20819166105, (@ — (i), (b) — (iv), (c) — (i), (d) — (i)

20819166106, (@ — (0, (b) = (i), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wall - 1 aud gl - 1A L

el - 1 yadl - 11

(uws) (&lerz dedt)
(a) 4ide i) -
) salleude (Cassiterite) (i)  elizid
(c) e (i) sl
(d) sl (iv) [25

Al Al [AseimiE] MRl sedied Y3HE 530
Options :

70819166104, (@) = (i), (b) = (i), (¢) — (ii), (d) — (iv)

20819166105, (@) — (ii), (b) = (iv), (c) — (i), (d) — (iii)

20819166106, (@ — (. (b) = (ii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :

70819166107, * and B only

70819166108, ‘* and C only

70819166109, ‘»and D only

20819166110, 2 Band Conly

Question Number : 35 Question Id : 70819120318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 Wil 2ol Faudl A 29 9.

A, Bl Gruladl i 2oup szen 4, ol wellHl Gualar s2eisd wiuiml s2am 20 9.

B. oz el weli [Halidld (exhaustive) [Egalceusr ol ottigami 20 8.

C. o well 2 e el sl 6y Gesar ol aud 9.

D. Hy0 Al Exot1etl 21 D,0 kel et 94R ¢4 6.

{12 210l [Asedisiz] A1l sraien yais s,
Options :
70819166107, Ft A 1B

70819166108, ¢¥t A #1C

70819166109, A #1D



70819166110, ¥t A B2 C

Question Number : 36 Question Id : 70819120319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO, + H,O+B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

Options :

70819166111, A~ H20 ; B=0;; C~NaCO;

70819166112, *F ERAE S st NARIE

70819166113.

70819166114, G - g

Question Number : 36 Question Id : 70819120319 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

412 20Ud UEML A, B 244 C 2UAL

NH;+ A +CO, — (NH,),CO,

(NH,),CO, + H,0 + B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

Options :

70819166111, A~ H20 i B=0y; C~NayCO;4

70819166112, *F ERAE S st NARIE



70819166113, **~HL i B~CO, ; €~ NaHCO,

70819166114,  ° . =

Question Number : 37 Question Id : 70819120320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C ompou nd A used as a strong nxidizing agent is amphotoric in nature. It is the part of lead
storage batteries. Compound Ais:

Options :
70819166115, PO

70819166116, | 0O

70819166117, 1 P34

PbSO,
70819166118,

Question Number : 37 Question Id : 70819120320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
alsred A Al GualoL e ifsdesal s 2 9 2 el ugld Geeppell 8. d ds dangs dedlinl
s 0L 9, Adlerd A 2

Options :

70819166115, PO

70819166116, | PO



70819166117, L 3%

PbSO,
70819166118.

Question Number : 38 Question Id : 70819120321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MO, ?
[M is lanthanoid metal]

Options :
70819166119, Nd

70819166120, 2V

70819166121, LT

70819166122, YD

Question Number : 38 Question Id : 70819120321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(oL 2l A gy Usl 54l 245 MO, vttt 4l 7
[M 2l d-8i-igs ald 9.]

Options :

70819166119, Nd

70819166120, 2V

70819166121, LT



70819166122, Yb

Question Number : 39 Question Id : 70819120322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :
Options :

70819166123 protects us from the UV radiation

70819166124, Protects us from the X-ray radiation

generates phf}todmmical SmMog,
70819166125.

70819166126 protects us from greenhouse effect

Question Number : 39 Question Id : 70819120322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A T E R R ATYEl

Options :
70819166123 o 2] UV Elzel ol zae 52 9.

70819166124, ¢ 2HEL X-Be (ray) EBzeel wae 52 9.

% o i e '.;:‘ =
20819166125, usl2RIARs dugyH oy 53 8.

70819166126. Al €16 4z 2l 2] 28eL 52 9.



Question Number : 40 Question Id : 70819120323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : A mixture of chloroform and aniline can be separated by simple distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166127. Both Statement I and Statement 11 are true

70819166128. Both Statement | and Statement 11 are false

708191661 29. Statement 1 is true but Statement 11 is false

70819166130. Statement 1 is false but Statement 1l is true

Question Number : 40 Question Id : 70819120323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Al2 o [Eal L e
Bt 1: sizisi 24 2AAEAAL Piaen s (Feaie ol 2o wd s o.
a1 sAR =AM, 2AAEA 244 well-i Faesial] g (2254 gR1 21 e 20 i
(A et Gesat (gl 4l A G5 9,
Gyl [Eaiql Azei, LBl 2d Bsednioll 2l e yaiE 520
Options:

R 5 ; - -
20819166127, b (Sl 1 2 (S 1 20 9.



70819166128, I [AeiA 1 24 [Fau- 1 vl 9.
70819166129, et 1 2ue © wet [Seud 1w 9.

X 5 :. —
70819166130, T M et (et I 2 ©.

Question Number : 41 Question Id : 70819120324 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819166131 Carius tube is used in the estimation of sulphur in an organic compound.
70819166132, Carius method is used for the estimation of nitrogen in an organic compound.
20819166133 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

P]msphnric acid prnducr_-d on oxidation of p]msphoms present in an organic compf}und

20819166134, is precipitated as MgzPED;, by adding magnesia mixture.

Question Number : 41 Question Id : 70819120324 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Al il 54 (e v © 7
Options :

r . . = . _j - - i
20819166131, 5101 (s Hatlsrul HeszAl uRHm w2 3Rua Aol Guaior i ©,

70819166132, S1eilAs daier4ui Aiglernl URHuA Wi SRu il Gudio i ©.



r . Lo o - e S T Ty ¢ = = >
20819166133, S1eLEs tilarl Audgler rtl wlaue e sresige WAl GualL s 9.

s101[5 2alsr-uL v siasaul 2UEH LA Ul 516165 2 Gyt Wy © erul WAl Piel

343l M _ 28] ).
20819166134, 2l MgP,0; ild 4 &

Question Number : 42 Question Id : 70819120325 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For the given reaction :
CH = CHBr 1. NaNH,
| . — (A)
CH, 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options:
(lﬁI-I= CH-NH,

-

CH,
70819166135,

CH,CH,CH,NH,

70819166136.

70819166137. :

H,C CH,

CH,
70819166138. :

Question Number : 42 Question Id : 70819120325 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
21U HEHL AL

CH==CHBr NaNH,

- - - (A)
CH,4 2. e dln wiaed 4oll, 873 K (3ot sy
dAlA” 497
Options :

CH=CH-NH,

-

CH,
70819166135,

CH,CH,CH,NH,

70819166136.

70819166137. :

H,C CH,

CH,
70819166138. :

Question Number : 43 Question Id : 70819120326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z s ‘v
TR T 1 } i
UV light (major product)
monobrominated

CN

What is “A’?



Options :

H,C Hq
70819166139.
CH,CH;
70819166140.
\Cl |/
CN
70819166141.
CH,CHy
Br
70819166142.

Question Number : 43 Question Id : 70819120326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



STER PO

CH,CH;
Bl’z
> A
UV uslu (A)
(yut {lusy)
CN (MlAL elldlA28)
A D)
Options :
CH5CHj,
f :Br
CN
70819166139.
CH,CH;

70819166140,  Br

70819166141.

70819166142.

Question Number : 44 Question Id : 70819120327 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Hydrolysis B

% o | s Fd
3BK 7 (¢ HgO)

(C4HgCl5)

B reacts with H}-‘dmx}fl amine but does not give Tollen's test. Idemif}-' A and B.

Options :

70819166143. 1,1-Dichlorobutane and Butanal

70819166144. 2,2-Dichlorobutane and Butanal

70819166145. 1,1-Dichlorobutane and 2-Butanone

70819166146. 2,2-Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120327 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

| A s/ N\[EeLsy 4 B

S T
(C4HgCly) (C4HgO)

B »l cldisua iadd #iE ulbun 53 9 el ddeu syl 2l 42l A 244 B A 2o,

Options :

70819166143, LASHSARIHEA 24 o3jenid

70819166144, 22 SPHHRIA e i e3jertia

70819166145, 1 1-SIH5AIRIAHeA A 2-04eAlA

70819166146, 22 SHSAIRIONA 2t 0424221



Question Number : 45 Question Id : 70819120328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-’ the major pmducts Aand B rr_-spectivel}-' in the fnllnwing reactions of phenol ’

QOH
_‘(ij CHCl;, NaOH Br; in C5, @
-
(i) HO* 273K
Options :
OH OH
Br CHO
and
70819166147.
QOH OH
@ and @
70819166148, BT CHO
OH OH
Br
and
70819166149. 232

OH OH
CHO
and
. Br

70819166150



Question Number : 45 Question Id : 70819120328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al 2 Bl wleial Yo dlusd 20458 A 214 B 20l

OH
@ <) CHCly NaOH CS, 4l Bry " @
(ii) H4O™ 273 K
Options:
OH OH
Br CHO
24
70819166147.
OH OH
70819166148,  OF s
OH OH
Br
24
CHO
70819166149.
OH OH
CHO
24

70819166150.



Question Number : 46 Question Id : 70819120329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : G-Nitropheml is steam volatile due to intramolecular h}-’drogen bonding.
Statement 11 : G-Nitropheml has high me[ti_ng due to h}-‘drogen bonding.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166151 Both Statement I and Statement 11 are true

70819166152. Both Statement I and Statement 1l are false

70819166153, Statement 1 is true but Statement 1l is false

70819166154. Statement 1 is false but Statement 11 is true

Question Number : 46 Question Id : 70819120329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
of [Fal A2 2ia e
[ 10 ool 2 2id:2uedly @dgler- it sRel qzie oyl 9.
[ 11 :  o-udgUE-Ad 21 eddior olaq 51261 G aaloy aud 9.
GuzAi [Faudi-l deeial, 12 2uda [Esedmisl el srdie wis 521,
Options :

70819166151, b [Sttanet T 244 [Etet 11 20l 9.

70819166152 ol [t 1 24 s, 11 el 9.

70819166153, VUL H D ueL AU LM ©.



NERT a1 [e :‘. -
70819166154, VAR I MIE © et R 1T U] ©.

Question Number : 47 Question Id : 70819120330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options:
CH,;CH,CH,NHCH,
70819166155. Jiddas i ;

H
70819166156, = 3T 2CHN—CHC R,

NH —CH,CH,CHj
70819166157. :

CH,CH,NH,
70819166158, - 2 2

Question Number : 47 Question Id : 70819120330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

25 WG A] ot igd sdiuds W WrL sl ot Hellor L 2lesAUA JABHL 2gled §. 2L
W8 2 G selludidl AR g2l ] w5t 9. dl A W el el .

Options :
CH,CH
70819166155.

20819166156, 1 3CH2CHN—CHyCH;



NH —CH,CH,CHj
70819166157. :

70819166158, 3

Question Number : 48 Question Id : 70819120331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Neoprene is :

Options :
+CH2CH:CH—CH2—CH2 CH ]n
70819166159. CN
rL|“1
[ CH, C—(TH—ETH2+H
70819166160.
% HN - Nx ;NHCHE %_
Y )
N.__=N
NH
70819166161, |
]
CH,—CH-I-
70819166162. —

Question Number : 48 Question Id : 70819120331 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[ BA] claurel 2l

Options :
—%—CHﬂ}k:CH——CHf——CHE TH ]n
70819166159. CN
fl
70819166160.
—HN___N___NHCH, -
T )
N-_ KN
NH
70819166161. |
]
[ CHy——CH—-
70819166162. N

Question Number : 49 Question Id : 70819120332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819166163, Vitamin B

Fig. . i
70819166164. Vitamin C



Froo s T
70819166165, " iamin E

Tt . -
70819166166, ¥ itamin K

Question Number : 49 Question Id : 70819120332 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
{12 2daial s4 [l didl cise svasi | 530 (delaying) 488 52 © 7
Options :

70819166163, eCltB

i

70819166164. (el C

70819166165, (A4 E

70819166166, |l K

Question Number : 50 Question Id : 70819120333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HZSD4, gas X is evolved which turns KzCrED?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options :

K=50.,r Y:{:r E{)
70819166167. 3 2(50,);

70819166168, ~— 2C2 Y=Cr0,

X T Squ Y = 'CI'-;D-_S
70819166169. v 2™



K . SD"),.- Y = {:I'-){SD_.I:I:E
70819166170. % 5 :

Question Number : 50 Question Id : 70819120333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s Wlloreit WA HE HS0, A8 L s3], iy X Gt 24 © 5 of 4g H,S0, 48 »lRulss st
KCry0- Wt dllg 54 sdedlor Y 4 328 9. dll X 24 Y @A 2U1ell

Options :
X=50,, Y=Cr,(SO
70819166167. 3 250
70819166168, 202 Y =10
X=503, Y=Cr,0,
70819166169. ' S
X=50,, ¥ =Cr,(50,);3
70819166170. E i :
Chemistry Section B
SectionId: 708191895
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required?: Yes



Sub-Section Number : 1
Sub-Section Id : 7081911175

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120334 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 <103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120334 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
50000.020 % 10 ~3 Wi 22dyus pissliAl v 8
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120335 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



b)=RT. The value of —| is £ The value of xis __

A certain gas obeys P(V
L ) P AT

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120335 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L

4 4 % O.odxdyd 8.

i
b)=RT 4 W 5 8. | —

25 (Al 2y P(V = |
¥ \ dP JT

m

(yellsui sruet) : (Z : el vaq)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120336 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H=80 k] mol~!) the entropy change A S® depends on the temperature T(in K) as
A S9=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120336 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25 e UEHLA + B = C+ DL, (A, HO=80 k] mol ~!) 2ol udl 32512 A S7 24 clysiA
T (K i) w2 20eld © o A S7=2T (J K~ Tmol ~1) adls ©.

541 ey Al o 2o (a0 4O adld KA 8. (yels)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120337 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 502{ ) at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The
non-volatile sofute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) ( P{j !ﬁ}:E-L mm of Hg ] is ¥ 102 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120337 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

298 K 24 1 atm W, 224 mL SO, 1 100 mL 0.1 M NaOH i gieteruitl wuR szl = .
Geut Uell 2Aruaild gled A 36 g wellui gled szl wid 8. glasil Arvselssl ddl vadl

(lowering), (m:ﬂ dl % glael e 9) ( P{ihﬂ} =24 mm of H;J,) 110”2 mm of Hg 9. dlx -} 4y
_____ 9. (Yolls e/
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120338 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction ABy ) = A, 1 ZB'[E} is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole ami the equilibrium pressure was 1.9 atm.
The value of KI’ is xx10~ 2, The value of xis __ . (Integer answer)

[R=0.08206 dm?atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 55 Question Id : 70819120338 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C W, hs w3y (uiell) »ueel 4 4ol Al Wb AByy = Ay 2B A4 25 [det sasul seml

A 8. AB, 12 mudrl or21 1 Hldt el @i At EU8L 1.9 atm . oll LK ¥ rx10728. dl
xefud 9. (yels ee)  [R=0.08206 dm’atm K lmol y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819120339 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following reaction

MnOjy +8H* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnOy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120339 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



12 A0 Ul e Al
MnO,~ +8H* +5¢~— Mn*2+4H,0, E°=151 V.

MnO, ~ i Wi W [omet s2e ue (gl ol szl S8 W 9. (yels seuw)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k| mol 1. T# energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in k] is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s Guaiatus i X — Y 30 k] mol ~ T albusael aulsa w1ed 9. My st od (Ald) Gledel
351 AE 20 KJ 1M oll, dlaaedl sl e wlusel awlbd K« 9. (yels e

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819120341 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at T atm and 300K inLis

[R=0.0821 L atm K1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819120341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.2 g el g w2 3.12 g 2lilsusrete] 2AEelne 24 8. 300 K 244 1 atm 4, 24205 w2 A
Gz 20l adl 2l sE LU0 8,
[R=0.0821 L atm K1 mol~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 59 Question Id : 70819120342 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SRS 2L gt e bl sl 20d 9, ol el Aluerdl Cr AL 23 20s
8.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120343 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),,Jis .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120343 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Mny(CO)o] i Aq#s CO [@oumg oAl dvat

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191896
5

Online
Mandatory
20

20

80

Yes

1
7081911176

Yes



Question Number : 61 Question Id : 70819120344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
It : and E are perpendicular, then a + * a » * ax b JH is equal to :

Options :

S

70819166181.

4

‘—}—}

al b

N |-

70819166182.

e
70819166183.|a‘ o

— =

70819166184, @ < b

Question Number : 61 Question Id : 70819120344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- UpESS T e oy +—> (—> |:_> _>|:||
ol g VA p A, dl a xlaXxlaxlax bl/l] =

Options :

S

70819166181.

4

‘—}—}

al b

N =

70819166182.

e
70819166183.|a‘ b



— =

70819166184, @ * b

Question Number : 62 Question Id : 70819120345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7, 5,5), (1, A, 7) and (2A, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options:

70819166185, °
70819166186,

70819166187.

70819166188.

Question Number : 62 Question Id : 70819120345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ad (55211 (1,5, 35), (7,5,5), (1, A, 7) 24 (2, 1, 2) 4vtctelle ¢, b\ Al 25 i Buddidl @il
UL
Options :
39
70819166185, °

39
70819166186. 2



ﬂ
70819166187. 2

44

70819166188, °

Question Number : 63 Question Id : 70819120346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3and 2Zx+y=6is a :
Options :

70819166189, Right angled triangle

70819166190, 1s0sceles triangle

70819166191. Equilateral triangle

70819166192, None of the above

Question Number : 63 Question Id : 70819120346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABL IWRlL x —y=0, x +2y=3 24 2x+y=6 -l D%
Options :

70819166189, Sws¥ Bs1L 9.

70819166190, il HsleLS.



S
70819166197, AU BsELD.

20819166192, -t Usl 245 e -le.

Question Number : 64 Question Id : 70819120347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ta+la+2) a+2 1
The valueof |(a+ 2)(a+3) a+3 1|is:
(a+3)(a+4) a+4 1
Options :
20819166193, @ T D(@+2)(a+3)
20819166194, (@ 12)(a+3)(a+4)

70819166195, — 2

70819166196, 0

Question Number : 64 Question Id : 70819120347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

la+D@a+2) a+2 1
@+2)(a+3) at+3 U dqun 9,
a+3)a+4) a+4 1

Options:

70819166193, (2 T D@ +2)(@+3)

70819166194, (@1 2)(@+3)(a+4)



70819166195, — 2

70819166196, U

Question Number : 65 Question Id : 70819120348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

.\"‘}_

20% in 2 hours. If the pnpulation of bacteria is 2000 after is

— hours, then [
[OBE [L; ) L, ]'OBH 2 /

equal to:
Options :
70819166197, 2

e

70819166198.

oo

70819166199.

70819166200. 16

Question Number : 65 Question Id : 70819120348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L4l 9EA g2 Gt gl vl oM 9 2 A t=0 sl Hval

1000 ©. 2 sesul cAseldiedl 2va1 20% 98 9. o seist el ciselaiel vl 2000 ¢, dl

log, (2]




Options :

70819166197, 2

e

70819166198.

oo

70819166199.

70819166200. 16

Question Number : 66 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819120349 Question Type : MCQ Option Shuffling : Yes

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the

triangle PQB (in square units) is :

y A
| )H
D\ A .-'/" B
Q
Options :

=

'J._lﬁ

I

70819166201.
70819166202, 2433
70819166203, 26v2

70819166204, 263

Question Number : 66 Question Id

: 70819120349 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2 aderi Ay OA =1 2154, OB=13 2154 214 PQ L OB ©. dl (slel PQB &0

(AL 2lsd)  aA

y h

/
N

Options :

>

70819166201, 24V2
70819166202, 243

70819166203, 2632

I
2‘\.
3]

70819166204.

Question Number : 67 Question Id : 70819120350 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[3sin(Z +h) — cos(Z + h}]
lim 24 i — } 6 }':- is :
h—0 | V3h(+/3cosh — sinh) ]

The value of

Options :

W

70819166205.

'..-lel:-'

70819166206.

: MCQ Option Shuffling : Yes



2

70819166207, V3

3
70819166208. 4

Question Number : 67 Question Id : 70819120350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{ Il.— : i . g .
|wﬁrdn{1-l h) — cos{Z + h}|
lim 24 i ' Y R (o S )
h—0 | J3h(\3cosh — sinh) | 33

A

Options :

W

70819166205.

w|¢l

70819166206.

2

70819166207, V2

3
70819166208, 4

Question Number : 68 Question Id : 70819120351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = éx"‘ 5x° + 18x% — 19x occurs at the point :

Options :

70819166209. (0. 0)



)
70819166210, (& 2)

F &
3, o}
70819166211. =

70819166212, (2 9)

Question Number : 68 Question Id : 70819120351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

q£u==%x4 5x° +18x” —19x A [Agel ueam e wal 8.

Options :

70819166209, (0. 0)

g
70819166210, (& 2)

3 —

¥

. i
2

70819166211. /

70819166212, (2 9)

Question Number : 69 Question Id : 70819120352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= s i
1+ 3

iy )

dxy 1s:

Options :



e

70819166213.

70819166214, 2T

o

70819166215, =

70819166216, =™

Question Number : 69 Question Id : 70819120352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

S

. - ;
dx « Heu
I 1+ 3% e

T
)

Options :

S

70819166213.

70819166214, 27T

L
70819166215. =

70819166216, ™

Question Number : 70 Question Id : 70819120353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819166217, 42

70819166218. *

=]
=l

70819166219.

i &
-2

70819166220.

Question Number : 70 Question Id : 70819120353 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ui 1, 2 2 3 2isl Guiall vl da el 251l seel 10 €4 ddl Hid 2Aisi yeist -l doa
o.

Options :

70819166217, 42

70819166218. *

=]
=l

70819166219.

i &
-2

70819166220.

Question Number : 71 Question Id : 70819120354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1
The maximum value of the term mdependont of 't in the expansion of [U;J |

\ /
where xe (0, 1) is :

Options :
10!

2
70819166221, V3(5)

2.10!

XA
70819166222, V33!

70819166223, ~)°

| 2
70819166224, °')

Question Number : 71 Question Id : 70819120354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 \10

(1 x)10

t
W A

5 s oedl xe (0, 1), AL Frazer vl 2adat wedl weds Bad o,

tx

Options :
10!

2
70819166221, V3(5)

2.10!

X
70819166222, V33!

70819166223, (')



10!

2

70819166224. A5

Question Number : 72 Question Id : 70819120355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options:

S={(x, 2+y2=4
70819166225, W ¥) [ tym=4)

e a 2
70819166226, >~ (& ¥) | ¥ +y°

70819166227, >~ (& ¥)

70819166228, o= (& ¥) | ¥ +12=2)

Question Number : 72 Question Id : 70819120355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4ils R={(P, Q) | P 21 Q GlorlCigall 4t »id 2Aee 8). 2 s deld 8, dl (1, —1) Al w49l
| e 9,

Options :
S={(x 24+y2=4
70819166225, ~ W ¥) [ ym=4)

- " -2 j:'j
70819166226, >~ (& ¥) | ¥ +y==2}

T
70819166227, >\ ) [ ¥ +y==1}



—{(x i o T
20819166228, o= 1® V) | ¥ +y*= 2}

Question Number : 73 Question Id : 70819120356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819166229, !

70819166230, 4

70819166231, ©

70819166232, 12

Question Number : 73 Question Id : 70819120356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4Rls A 2 5812 Al yells aesiel {Bid Al 8. ol A2 4l Bselidn aesdl ¥l 1 ¢y, di 2
agt Aldsidl vt @

Options :

70819166229, !

70819166230, 4

70819166231, ©



70819166232, 12

Question Number : 74 Question Id : 70819120357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

f-fo)| = [@-y), ¥ (xy) e R
If f(0) = 1, then:
Options :
70819166233, /() >0 7 xs R

20819166234, /(¥ <0, 7x = R

70819166235, /(W) =0, vx <= R

70819166236, J ®) can take any value in R

Question Number : 74 Question Id : 70819120357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QLS £l R cavlfld 51 (B84 9 2w d, Wd | )~ fiy) | = |- 1)%], 7 (x, 1) = R 4 ¥am
518 ad fl0) =1, dl:

Options :

20819166233, /(¥ >0, 7 xe R

70819166234, /() <0 7xeR

20819166235, /(@) =0, vVxe R



. ui ik W T
70819166236, /@) AR UL SIURL YA dRELSL ©

Question Number : 75 Question Id : 70819120358 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :
15
bt
70819166237, 2

12
70819166238, 2

70819166239.

15
14
70819166240. 2

Question Number : 75 Question Id : 70819120358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

D5 1ol (B8] 2l 4uid GOl 209 9. ol 7 duid 914 sl 1ol 209 9uid 91y Hadl
dotadl odl o i, ol 2 dvid O HOdel el 8,

Options :

70819166237, 2°

70819166238, 2



70819166239.

15
14
70819166240. 2

Question Number : 76 Question Id : 70819120359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1
_gin x cos X tan 1 -
If = = Y :0 < x <1, then the value of CDS|
a b C \a+b)

—_ 4
il

IS :
Options:

70819166241, 1 ¥~

-

ly‘
70819166242. VY

70819166243.

2y
70819166244,

Question Number : 76 Question Id : 70819120359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S| -1 -1

-~ 8In X cos X fan 1 -, -,

el = = j;[]'::x'ilélt{,dLCOS|
a b C . a

—_
[l

R
Yo Yy,
thf}ﬂ "

Options :



-

70819166241, 1 ¥~

-

ly‘
70819166242. VY

70819166243.

2y
70819166244.

Question Number : 77 Question Id : 70819120360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: 2
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

]
=

70819166245.

Lo

70819166246, -0

70819166247. -

(]

70819166248, 39

Question Number : 77 Question Id : 70819120360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



" Y N ~ AN ) 25 T | N e R S N
2 el 42l Aellui oflad 24 951 ElAL 3L —- et Allod e WHHL AL J8US1R 25 9. ol
AL, 931 2 AHLYEAL WAL U,

Options :

-2
=

70819166245.

(]

70819166246, 0

70819166247. *

)

70819166248, 39

Question Number : 78 Question Id : 70819120361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I i i ) 2 i 12 17 22 I
1¢ sum of the infinite series 1+ -+ — + — + — + — + ...... 15 equal to:
3 32 f}'ﬁ 34 3':! q

Options :

o

70819166249, 4
n

70819166250. 4

13

70819166251, 4

15
70819166252, 4

Question Number : 78 Question Id : 70819120361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

- 2 7 2 o q : :
et Bl 1+ = 4 ’r—,J | 1— | ol P+ Aldrr .
3 3< 35 34 35
Options :
ko
70819166249, *
n

70819166250, 4

13

70819166251, 4

15
70819166252, 4

Question Number : 79 Question Id : 70819120362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes
Py : 3x+15y+21z=9,
P,:x—3y—z=5, and
Py : 2x+10y +14z=5
Then, which one of the following is true ?
Options :

70819166253, L1 and P are parallel.

70819166254, L1 and Py are parallel

70819166255, 17 T2and Py all are parallel.

70819166256, | 2 and 3 are parallel.



Question Number : 79 Question Id : 70819120362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
LS A8 YHdd

Py : 3= +15y+21z=9,

P, : x—3y—z=5, Bl

P, : 2x+10y +14z=5 ©.
al Al U5l 54 0 97
Options :

70819166253, |1 At Pp HHIA ©.

= . - 3 -
70819166254, L1 2 Pa HHR ©.

Sy 5 . . -
20819166255, F1r P2 217 Py 2814 23tiei ©.

o
20819166256, 12 i1 P3 WAR ©.

Question Number : 80 Question Id : 70819120363 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

100 n

The value of Y. | e* Ml dx, where [x] is the greatest integer = x, is :
n=1 n—1

Options :

70819166257, 100(1—¢)

70819166258, 100(1+e)

70819166259, 100¢



70819166260, 100(e —1)

Question Number : 80 Question Id : 70819120363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n _ ) _ ) )
Yo Mar duer B, ea [x] uenyels =x 9.
n=1 nll

Options :

70819166257, 100(1—¢)

70819166258, 100(1+e)

70819166259, 100¢

70819166260, 100(e —1)
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Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes

Sub-Section Number : 1



Sub-Section Id : 7081911177

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120364 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

. . 2 o ai]
of curves givenby y~ =a x + —
L 2

,a>0is__ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120364 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 lr ., va)
y =alx+ —
v — /I

;2 > 0 4131 2P Al g 2y siell [Bset adlsrent Wbl vid g gl

dslid 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120365 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wlsvel a3 —222+ 20 —1=0 i ofledl 1624 sictel Mzl =i,
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120366 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—-2|is ___
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Wl y=|x—1|-2| «dl daEal dsad g 08,
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dJ’ siny

If y=y(x) is the solution of the equation Ohm‘fCOSyE e cosx = cosx, y(0)=0; then

o (m) B (w) 1 (m)
14 y|kgj | ?y|;J | \_fi”bj is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819120367 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



g i el di e o ~
a y=y(x) 2 [Asa wilsel e“m*‘cosya"j Fe™ cosx = cosx, y(0)=0 Al Gid ¢ly, dl

vl o) )
\6) 27\3) 27\4)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is _ .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

willszel logy(x—1)=logy(x—3) Al Gselldl dvar 9,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120369 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Wls2el dsiny +4cosr=k+1; ke R < G5 dd dal K Al yeds yeldl dvn 9,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120370 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

A
— -4 isequalto .
1) 1

|f %
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QLS (4, —2,2) widl udiz gl wudd uz (G5 (A, 2, 1) 2044 6. od 21 44dd, 2L (G5

‘|2 4\
I 1

o
: U | T S ST T I
(=2, =21, 29) dat (=1, 16, 23) A atsell 2t ciet €4, ol | =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120371 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120371 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Hslda _[ sin2x [dx o Y
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120372 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f \.E{mszx) = (3 ~ 1)cosx + 1, the number of solutions of the given equation when

re |

|
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819120372 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L] . — ' : \ B -
0, —| ¢lu cud wllszel VBcos”x) = (V3 ~ Tcosx +1 Al G3dldl wval

ol XE

8.
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120373 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

lh:;[] ) m
| =n-2", then
29)

(30} (: (301
Letm,ns Nand ged (2, n)=1. If ."r[l‘ ‘ I 29‘ _ ‘ Fisiiic + 2 ‘ + 1
o) L1 28)
ntmisequalto .

¥,
‘n)
Here ‘
\ u.k;

4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120373 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



. .~ (30) (30
4R m ne N LuL, (2,n)=19. o 30 | |

| :
LN

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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